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M.Com. DEGREE EXAMINATION, APRIL 2017.

II YEAR — IV SEMESTER

ADVANCED MANAGEMENT ACCOUNTING AND DECISION MAKING
Time : 3 hours

Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1. Who are the parties interested in fund flow statement?

2. What is quick ratio?
3. From the following profit and loss account, compute funds from operations:

PROFIT AND LOSS ACCOUNT

	To Salaries
	    `
5,000
	By Gross profit b/d
	   `
1,000

	To Rent
	2,000
	By Rent
	5,000

	To Depreciation
	1,000
	By Interest on investments
	4,000

	To Preliminary expenses
	2,000
	By Net loss
	5,000

	To Loss on sale of land
	5,000
	
	

	
	15,000
	
	15,000


4. What are the advantages of ratio analysis?

5. Calculate Net Profit ratio from the following data:

	
	`
	
	`

	Sales less returns
	1,00,000
	Selling expenses
	10,000

	Gross profit
	40,000
	Income from  investment
	5,000

	Administration expenses
	10,000
	Loss  on account of  fire
	3,000


6. What is zero base budgeting?

7. What is meant by budgetary control?

8. The profit volume ratio of X Ltd. is 50% and the margin of safety is 40%. You are required to calculate the net profit if the sales volume is `1,00,000.

9. What is angle of incidence?

10. What is marginal costing?

11. What is variance analysis?

12. Calculate Direct material cost variance from the following data:


Standard output


600 units


Actual output


500 units


Std. Qty. per unit

1 kg.


Total actual qty. used

600 kg.


Std. rate per unit


`14 per kg.


Actual rate per unit

`15 per kg.

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.
13. Distinguish between cash flow statement and fund flow statement.

14. The capital employed in a business has been financed as below:

`
Equity  share capital


  3,00,000

Reserves



 
  1,00,000

6% Debentures



  4,00,000

7% Preference share capital

  2,00,000



10,00,000

The company earns a profit of `2,00,000 before interest and tax.  Calculate the capital gearing ratio and test it for ‘Trading on Equity”. Tax 
rate may be taken at 50%.

15. Distinguish flexible budget and fixed budget.

16. A factory is currently working at 50% of its working capacity and produces 
10,000 units. At 60% working capacity, the raw materials cost increases by 2% and selling price falls by 2%. At 80% working capacity, raw 
material cost increases by 5% and selling price falls by 5%. 
At 50% working capacity, the product costs `180 per unit and sold at `200 per unit. The cost of `180 is made up as follows:

        
  `
Materials





 100

Labour



 
 
   
   30

Factory overhead (40% fixed) 
  
 
   30

Adminitration overhead (50% fixed)
   20

 180
You are required to estimate the profits of the factory when it works at 60% and 80% of its working capacity.

17. What are the benefits of Cost Volume Profit analysis?

18. The sales turnover and profit during two periods were as follows:

Period 1
Sales `20 lakh and profit `2 lakh

Period 2
Sales `30 lakh and profit `4 lakh

Calculate: 
(i) P/V ratio 
 (ii) Sales required to earn a profit of `5 lakh   and 




(iii) Profit when sales are `10 lakh.

19. In a factory, 100 workers are engaged and an average rate of wages is `5 per hour. Standard working hours per week are 40 hours and the standard output is 10 units per hour. During a week in February,  wages are paid for 50 workers @ `5 per hour, 10 workers @ `7 per hour and 40 workers @ `4 per hour. Actual output was 380 units. The factory did not work for 5 hours due to breakdown of machinery.

Calculate: 
 (i) Labour cost variance
    (ii) Labour efficiency variance






 (iii) Labour rate variance and (iv) Idle time variance.

SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions

20. Balance sheets of M/s. Black and White as on 1.4.2015 and 31.3.2016 were as follows:

BALANCE SHEET

	Liabilities
	1.4.2015
	31.3.2016
	Assets
	1.4.2015
	31.3.2016

	
	`
	   `
	
	  `
	   `

	Creditors
	40,000
	44,000
	Cash
	10,000
	7,000

	White’s loan
	25,000
	---
	Debtors
	30,000
	50,000

	Loan from bank
	40,000
	50,000
	Stock
	35,000
	25,000

	Capital
	1,25,000
	1,53,000
	Machinery
	80,000
	55,000

	
	
	
	Land
	40,000
	50,000

	
	
	
	Building
	35,000
	60,000

	
	2,30,000
	2,47,000
	
	2,30,000
	2,47,000




During the year machine costing `10,000 (accumulated depreciation `3,000) was sold for `5,000. The provision for depreciation against machinery as on 1.4.2015 was `25,000 and on 31.3.2016 `40,000. Net profit for the year 2015-16 amounted to `45,000. You are required to prepare Funds Flow Statement.

21. With the following ratios and further information given below, prepare a Trading Account, Profit and Loss Account and a Balance Sheet of the company:


(i)   Gross profit ratio
25%

(vi) Fixed assets/capital
5/4



(ii) Net profit/sales
20%

(vii)Fixed assets/Total 


(iii) Stock-turnover ratio 10
        

 current assets

5/7


(iv) Net profit/capital
1/5

(viii)Fixed assets  `10,00,000


(v)  Capital to total liabilities 1/2
 (ix) Closing stock `1,00,000

22. A company has plans to manufacture five different types of product using a common raw material which is locally available according to requirements at `16 per kg. However, skilled labour required for manufacture is in short supply and current availability is only 30,000 hours per month @ `20 per hour.


Variable production overheads amounts to `10 per labour hour and variable selling and distribution cost is 10% of sales value.


Total fixed costs of selling, distribution and administration is estimated to be `3,00,000 per month.


Further details relating to the products are given below:

	Product
	Current demand

(units)
	Selling price per unit (`)
	Raw material

Required

(kgs./unit)
	Direct labour required

(hrs./unit)

	A
	8,000
	100
	2
	1

	B
	6,000
	120
	2.5
	1.2

	C
	5,000
	160
	3
	2

	D
	3,000
	220
	4
	3

	E
	2,000
	300
	5
	4


Required: (a) Contribution analysis statement showing the relative profitability of the products 
    under: (i) Normal conditions without any constraints on resources.




      (ii) When skilled labour hours are in short supply.

(b) Production plan for optimum profit when available labour hours is only 30,000.        

     What is the expected profit?

23. The following information has been obtained from the records of Zenith Ltd., a manufacturing organization using standard costing system:

Budget:


No. of working days


25


Working hours per day


 8


No. of direct workers


16

Efficiency: One standard hour per clock hour


Down time




20%

Overheads:


Fixed





`30,720


Variable





`40,960

The actual data for the month of December 2016 are as follows:


Fixed overhead costs


`33,000


Net operating hours worked
         1,920


Standard hours produced

          2,112

There was a special holiday in December, 2016.

Work out the fixed overhead variances.
———————
[P.T.O.]
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